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[1] (z +a)(z+b) = 2%+ (a+ b)x + ab
2] (z 4+ a)® = 22 + 2az + a2 s
(3] (z — a)® = 22 — 2az + a2 ARHES
(4] (z +a)(xz — a) = 2° — a? B RHRNES
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(3z +5)° = (M +5)° (a+b+1)(a+b+2)=(M+1)(M+2)
= M? 4 10M + 25 = M? +3M +2
= (32)* + 10 x 32 + 25 = (a+b)°+3(a+b)+2
= 9% + 302 + 25 = a? + 2ab + b* + 3a + 3b + 2
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<R > (4) (=3z+5)(—3z—5)
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(1) (4o +7)?

(5) (a+b+2)(a+b—2)

(2) (bz — 1)

6) (a+b—9)(a—0b+9)
3) (—2x+6)(—2z—9)
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HIE X EEMX ZIANZESHRX
(3z +5)° = (M +5)° (a+b+1)(a+b+2)=(M+1)(M+2)
= M? + 10M + 25 = M? +3M +2

= (32)° + 10 x 3z + 25 = (a+b)°+3(a+b)+2
— 922 + 302 + 25 —a®>+2ab+b°+3a+3b+2
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<R > (4) (=3z+5)(—3z —5)
ROX% B . She=Medcs
dr=MrBlL | = M?—25
4z +7)° = (M +7) = (—=32)* - 25

= M? + 14M + 49 _ 942 _ 95

= (42)* + 14 x 4z + 49

= 162 + 567 + 49 (5) (a+b+2)(a+b—2)

a+b=MtElt

(2) (5x —1)? (a+b+2)(a+b—2)=(M+2)(M—2)
éx:]\gtz‘o’ﬁt , =M?*—4
(o'L—l)—("Q—l) (g b —4

= M?—2M +1 2 >

) =a”+2ab+ b —4
= (5x)"—2x5x+1
= 2527 — 10w + 1

3) (—2x+6)(—2z—9)

2r=MtBlLt

(=224 6)(—2x —9) = (M +6)(M —9)
= M?* —3M — 54
= (—2z)? — 3 x (—2z) — 54
= 42% + 62 — 54

6) (a+b—9)(a—b+09)
b—9=MtEBlt
(a+b—9)(a—b+9) ={a+b—-9}{a—(b—9)}
=(a+ M)(a— M)
=a*> - M?
=a*—(b-9)°
=a® — b+ 18b — 81
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